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Question Number : 1 Question Id : 68634021969 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 68634021970 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1
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No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 2
Sub-Section Id : 686340717
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634021974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 68634021974 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Question Number : 7 Question Id : 68634021975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 68634021975 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634021976 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1
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: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 68634021979 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634021980 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl YR faarst for= yRd & fou vwite § siicfis § @ul ues Sidig 98 8 -
1. 91, <. e

RS Fgs

4. 1t df. {7y

Options :

68634086845. 1
68634086846. 2
68634086847. 3
68634086848. 4

| B

Lad

Question Number : 13 Question Id : 68634021981 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T’ B SR URIYS $ f61 T Jfad g1+ are o &1 gu 31 Seard o
LGgH

%

4. PIARCIA

Options :



68634086849. 1
68634086850. 2
68634086851. 3
68634086852. 4

Question Number : 13 Question Id : 68634021981 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634021982 Question Type : MCQ Option Shuffling : No Is Question Mandatory
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: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634021983 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634021984 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634021984 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Question Number : 17 Question Id : 68634021985 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634021985 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634021986 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 68634021986 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634021987 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634021987 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634086878. 2
68634086879. 3
68634086880. 4

Question Number : 20 Question Id : 68634021988 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



©: i aR=on, el =, ST, Ul SR BIRa Ue Ufdd J STk &1 3R 58 PP 66 & | T, 3R=01
3R Uwdl & &< H 961 81 et fohdi RR R =161 8 | aiid1 Uhdl & g alfe- 981 § | Wi e R
TR 51 § | SITUeT & qed alie & 87

1. 3T
gl

e

-J

T

4. U dl

Options :

68634086877. 1
68634086878. 2
68634086879. 3
68634086880. 4

Question Number : 21 Question Id : 68634021989 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G TR0 3x2 — 10x +2p= 0P HAGHA G I p BT HH FITGHT -

2
3
) 25
[{]
3. 23
3
Koo
6
Options :

68634086881. 1
68634086882. 2
68634086883. 3
68634086884. 4

Question Number : 21 Question Id : 68634021989 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT FHIHRO1 352 — 10x +2p =0 P A GHA § Al p BT HH T GHT :

A
|

3

6

3.2

3
Kol
b

Options :

68634086881. 1
68634086882. 2
68634086883. 3
68634086884. 4

Question Number : 22 Question Id : 68634021990 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1% Pig UM 4 a8 1 R Wiawrd IealS od7el U= 3 0N 61 &fidl § df del A JHH &< R fha auf § @
&1 27 TN G SIUT -

1. 16TY
18T
31539
4. 1279

Options :

68634086885. 1
68634086886. 2
68634086887. 3
68634086888. 4

| ]

Question Number : 22 Question Id : 68634021990 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A Pig AT 4 T8 § R WAWd Fh gl oaTel R 3 0N 31 Ol § O ag! 013 IHH & &R fba- auf & w4
1 27 UM g SIUe -

1. 1694
18Ty
15 ay
41299

Options :

68634086885. 1
68634086886. 2
68634086887. 3
68634086888. 4

| ]

faa

Question Number : 23 Question Id : 68634021991 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l SISRIEd UTHl 1 Bepl Il 8, U UM U 3 4 3@ b aul g8 U WR 4 ¥ (S 3idh 31 P
T &1 B

12
6

)
|

=

= R

Options :

68634086889. 1
68634086890. 2
68634086891. 3
68634086892. 4

Question Number : 23 Question Id : 68634021991 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&l TSRS UTHl 1 Bepl Wl 5. Ugd UK X 3 H 3 3eb aul g8 U8 WR 4 9 (S 3fch 1 P
TS T 3T g

1 2
6

[ )

- L%

Options :

68634086889. 1
68634086890. 2
68634086891. 3
68634086892. 4

Question Number : 24 Question Id : 68634021992 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

11 T3] T S 52 & | U8a 6 SISl &1 39 53 © Ul 3ifH 5 S=rsil &1 S9ad 498 df , B8l
WWW

1.51

[ ]
s
o

L4 ]
Lh
2

4.5

L
L

Options :

68634086893. 1
68634086894. 2
68634086895. 3
68634086896. 4

Question Number : 24 Question Id : 68634021992 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



11 @13l BT 71T 52 1 UGd 6 SN 1 31199d 55 8 quT i 5 Teamsf &1 s{aa 40§ ol . 98l
T J1d Biferd

1.51

)
e
o

4. 55

Options :

68634086893. 1
68634086894. 2
68634086895. 3
68634086896. 4

Question Number : 25 Question Id : 68634021993 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<l gHiR geRal W, 2 sRiaR 250 HY. aFelg $I Yorisal fqudid fan # fog A sik fdig B 9t g1 97y
TR 36 fhHI/EeT 3R 44 fHHl/GTT 1 910 U 90 61 § | o1d d T GUR I UR Bl 6 ol U Lol Garl
T ¥ 40 {5t 3 g U A g1 g A iR g B T dm T g gl -

1. 399.0 fapdit
. 400.0 Toodt
.399.5 fopmit
4. 400.5 fep it

Options :

68634086897. 1
68634086898. 2
68634086899. 3
68634086900. 4

| ]

L¥N]

Question Number : 25 Question Id : 68634021993 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& IR 9e il IR, 3 aRTeR 250 Ol Tl o] Yarnisar fausid f3en 4 fdg A iR fdg B 9 U® &1 99y
R 36 fati/der 3R 44 fobeilder 1 =re 9 =e 381 § | Ofd d U S8R I UR Xl & df U Yeisl, gadl
TS ¥ 40 forsit 31fere gt 7 Bl 51 foig A SR foig B & oig 31 g3 Bl -

1. 399.0 Tt
.400.0 fopit
.399.5 fopdit
4. 400.5 fpt

Options :

68634086897. 1
68634086898. 2
68634086899. 3
68634086900. 4

| )

LF¥]

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Part B: B Ed Mathematics

686340436
2

Online
Mandatory
75

75

300

Yes

0

1
686340718
Yes

null

Question Number : 26 Question Id : 68634021994 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The base of hexadecimal system 13
1.2

2.6

4. 16

Options :
68634086901. 1
68634086902. 2



68634086903. 3
68634086904. 4

Question Number : 26 Question Id : 68634021994 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
saITS R ReeH &1 99 §-

1.2

-
T

g
==}

4. 16

Options :

68634086901. 1
68634086902. 2
68634086903. 3
68634086904. 4

Question Number : 27 Question Id : 68634021995 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The EEPROM stands for:

1. Electronically Erasable Programmable Read Only Memory

[

. Electrically Erasable Programmable Read Only Memory

L]

. Electrically Easy Programmable Read Output Memory

4. Electronically Erasable Programmable Read Output Memory

Options :

68634086905. 1
68634086906. 2
68634086907. 3
68634086908. 4

Question Number : 27 Question Id : 68634021995 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U B R AH G -
. Sdldedhd gYoide HITHEd XS Sl R
gafdeEd golt TR NS S¥eye BNt

[ o, S ¥

4. goaciFch el giuad Ued I8 3geye aarl

[r—y

| ]

[ 5]

Options :

68634086905. 1
68634086906. 2
68634086907 3
68634086908. 4

Question Number : 28 Question Id : 68634021996 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MAC stands for:

1. Machine Access Control

[

. Media Access Certificate
3. Media Access Control

4, Machine Access Code

Options :

68634086909. 1
68634086910. 2
68634086911. 3
68634086912. 4

Question Number : 28 Question Id : 68634021996 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T% (MAC) STQIATH S -
1. TR T Sera
4. BRI U SIS

Options :
68634086909. 1

-2

fad



68634086910. 2
68634086911. 3
68634086912. 4

Question Number : 29 Question Id : 68634021997 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

N LIST I_ ) LISTII
Name of built-in Explanation
Exceptions E

[t 15 raised when the user accidentally hits the

A [Kevboardlnterrupt| 1. |Esc key while executing a program due to which
the normal flow of the program 1s interrupted.

I [t 1z 1'aise.d when an operator 1s supplied with a

" [value of incorrect data tvpe.

[t 1z raised when the file specified in a program
statement cannot be opened.

[t 15 raised when the requested module definition
15 not found.

B. [TypeError

C. [OError IIL

D. lmportError IV,

Choose the correct answer from the options given below:
1. A-1. B-I1. C-IIT. D-IV
2. A-TV. B-IIIL. C-11. D-1
3. A-IL, B-ITL, C-IV, D-I
4. A-I, B-IT1. C-I1. D-IV

Options :

68634086913. 1
68634086914. 2
68634086915. 3
68634086916. 4

Question Number : 29 Question Id : 68634021997 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 & 91y Gl 11 DT e Bife

-ﬁ?ﬁ] -ﬁ'_‘ﬁ[[
(e T uRE & —
Y % e
> 08 Ic0H 5idl § 96 g o H Esc D9l aaldl
& 99 & HuIfcd ed 90y, fordds BRI UM &1 919 UdTe a1dd aidl o
B. [cRUUR 11 [98 304 &ldl & 9id U e dl 7Tdld slel <3y &l Hi a1 ofidl g |
C. [smEHitx 111 [98 304 5id] & 9d WI5d 1999 ®U ¥ U UIH $Y= J @lal Jal ol 9odl § |
D. fHeTR IV. [78 3009 5idl & wd Halad (NP S) JTedd of JHTH el Hadi o

I f3U 70 fadhedl O U Tel 3T &1 99 Bl

1. A-I, B-II. C-IIL, D-IV

[ ]

CA-TV, B-IIIL, C-I1, D-1

. A-IIL B-IL. C-IV, D-I

faa

4. A-L. B-III. C-II. D-IV

Options :

68634086913. 1
68634086914. 2
68634086915. 3
68634086916. 4

Question Number : 30 Question Id : 68634021998 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct about the file format extension(s):

1. .txt Only

| ]

. .rtf Only

. .csv Only

[F¥]

4. 1tf, .csv and .txt

Options :

68634086917. 1
68634086918. 2
68634086919. 3
68634086920. 4

Question Number : 30 Question Id : 68634021998 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FAfRET I 9 19 91 BIgd WReY URieRH & aR 8 981 § -
1. HI .txt

A stf

3. Had .csv

4, otf, .esv Sﬁ—{ Axt

| ]

Options :

68634086917. 1
68634086918. 2
68634086919. 3
68634086920. 4

Question Number : 31 Question Id : 68634021999 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following cable used in Wired Transmission Media?

1. Twisted Pair Cable only

[ E]

. Coaxial Cable only
3. Optical Fibre only

4. Twisted Pair Cable, Optical Fibre and Coaxial Cable,

Options :

68634086921. 1
68634086922. 2
68634086923. 3
68634086924. 4

Question Number : 31 Question Id : 68634021999 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeed & O $H 91 Saq. IR died J=R0 HiEar § S9rT §idl g7
1. Fae AR S YoR aa

. Hdd DU Had

I ATPIHT BIaR

4. TEIRS UOR Pea, HTPIHT BIEER AR ST S

Options :
68634086921. 1

| ]

Lad



68634086922. 2
68634086923 3
68634086924. 4

Question Number : 32 Question Id : 68634022000 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I: Networking devices used to connect multiple computers in different settings.

Statement IT: In a communication network, each device that is a part of a network and that can receive, create,
store or send data to different network routes is called a node.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement IT 1s false

4. Statement [ is false but Statement IT 1s true

Options :

68634086925. 1
68634086926. 2
68634086927 3
68634086928. 4

Question Number : 32 Question Id : 68634022000 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A oA g %
HYA 1 ; HediT [Sargd 1 IuaiT fafis aiie! & 9gd el &l wie- § fear S|

Y11 : TP R Jead 8 Udd i&digﬁﬁ“ﬁﬁﬁﬁ%ﬁﬁlﬁ%ﬁ@ﬁﬁ%%?@ﬂuﬁm
U B3 G&dl 6. 941 95l 8. T P IHdl & AU U 9ol g, U 118 dedadl ol

SRIFd HUA & ATAS J 7= U fdeed § 9 98t ST &1 79 HIfe:
1. PYTI RIS T &
YA AR SH 3T

| ]

3. HYTI I g, Afhd FYTII 3T ©

4. YT T . Afp T YT I T B

Options :
68634086925. 1



68634086926. 2
68634086927. 3
68634086928. 4

Question Number : 33 Question Id : 68634022001 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following operation 1s used to remove one element at a time from the Queue?
1. PUSH

2. DEQUEUE

s

.ENQUEUE

4. POP

Options :

68634086929. 1
68634086930. 2
68634086931. 3
68634086932. 4

Question Number : 33 Question Id : 68634022001 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frgffad & ®F 91 TR U 99 H 7 (Queue) ¥ US o 1 8 § SUGNT €T 8-
L

SIRY

Y

A

4. 919

-a

fad

Options :

68634086929. 1
68634086930. 2
68634086931. 3
68634086932. 4

Question Number : 34 Question Id : 68634022002 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The equivalent hexadecimal digits of binary digits 101111100001 1s:
1.ADI1
2.BF1
3IBE1

4. AF1

Options :

68634086933. 1
68634086934. 2
68634086935. 3
68634086936. 4

Question Number : 34 Question Id : 68634022002 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g E=I10111110000 1B grITS T G&A1 8|

1.ADI1

[ ]

.BF1
3.BE1

4. AF1

Options :

68634086933. 1
68634086934. 2
68634086935. 3
68634086936. 4

Question Number : 35 Question Id : 68634022003 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A newspaper containg various types of news items which is the following of the data types?

1. Unstructured Data

()

. Structured Data
3. Semu Structured Data

4. Semui Structured and Structured Data

Options :

68634086937. 1
68634086938. 2
68634086939. 3



68634086940. 4

Question Number : 35 Question Id : 68634022003 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U% YHAER U4 $5 UOR & GHER &1 39d1 8, ol {6 HEfaied § 9 5 9 Seregy g2

1. SC R STel

)

CFER STel

(]

YRR STel

Lad

4. YRE R IR IR SIe]

Options :

68634086937. 1
68634086938. 2
68634086939. 3
68634086940. 4

Question Number : 36 Question Id : 68634022004 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In C programming % d 1s used for:

1. Printing Integer Values

[ E]

. Printing Character Values

]

. Printing Real Values
4. Printing Strings

Options :

68634086941. 1
68634086942. 2
68634086943. 3
68634086944. 4

Question Number : 36 Question Id : 68634022004 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



C TR o, d T W fop fou gl &

_quites g1 & fifd & fag

 PEe (e Al & Mfdn & fou
3. ARId® AF1 & Wi & g
4. fE&w fufén & fequ

Options :

68634086941. 1

68634086942, 2

68634086943. 3
68634086944. 4

[a—y

[

Question Number : 37 Question Id : 68634022005 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the non-volatile memory?

1. ROM

[

. FAM

. DRAM

L]

4. SRAM

Options :

68634086945. 1
68634086946. 2
68634086947. 3
68634086948. 4

Question Number : 37 Question Id : 68634022005 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAfREd 3 9 19 91 AH-diaesd J9Rt 32
1.39
2.
3.8k°
4, TEH

Options :
68634086945. 1



68634086946. 2
68634086947. 3
68634086948. 4

Question Number : 38 Question Id : 68634022006 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Modem stands for Modular DEModular', 18 a device used for conversion between analog signals
and electrical signal.

Statement IT: Ethernet card. also known as Network Interface Card (NIC) 1s a network adapter used to seta
wireless network.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT 1s false

4. Statement I 1s false but Statement I1 1s true

Options :

68634086949. 1
68634086950. 2
68634086951. 3
68634086952. 4

Question Number : 38 Question Id : 68634022006 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i< &l By R e B
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Tafded 9T & §rg SUTdRul & (o [T Sar g |

FHUF 11 : TURAC BIS P Hcdd 5eihy BIs (TN P 11 I Hf SIF1 911 § 91 &6 U9 Sead UenR
& forgeT IUdT aRIEd Heds & & e frar S g |
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Options :

68634086949. 1
68634086950. 2
68634086951. 3
68634086952. 4

Question Number : 39 Question Id : 68634022007 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is the Infix Notation?

1. x¥*y+z

[ )

o md 1

T

. Zxy*+
4. *+xyz

Options :

68634086953. 1
68634086954. 2
68634086955. 3
68634086956. 4

Question Number : 39 Question Id : 68634022007 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffarad | & 91 gafhad e 82

1. x*y+z

[ ]

oy

Ly ]

. ZXy*+
4. *xyz

Options :

68634086953. 1
68634086954. 2
68634086955. 3
68634086956. 4

Question Number : 40 Question Id : 68634022008 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Name of Memory Size No. of Bits
A |1PB I [sx10!?
B. |1 GB L] gx10®
C. |1 TB 1| gx1nl2
D.[1 MB V] 8x10°

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

[

CA-TV, B-IIIL, C-I1, D-1
3. A-IILL B-ILL C-IV, D-I

4. A-L. B-III. C-I1. D-IV

Options :

68634086957. 1
68634086958. 2
68634086959. 3
68634086960. 4

Question Number : 40 Question Id : 68634022008 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=11 91y Gl 11 D1 fieH SHifsu|

T 1 11
(HART HTHR BT (ﬁmﬂm)

ATH)

A_ |1 PB(UTET I |8x101°

B. |1 GB(EiTEN) 11 [sx10°

C. |1 TBEHED M1 Jex1012

D. |1 MB(UHE! IV [gx108

A1 fag e faeedl # @ F61 3R B 98 BifoI:

1. A-I. B-II. C-III. D-IV

| ]

CA-TV, B-IIT, C-I1, D-I
3. A-IIIL, B-II, C-IV, D-1
4. A-lI, B-1II. C-1II. D-IV
Options :

68634086957. 1
68634086958. 2



68634086959. 3
68634086960. 4

Question Number : 41 Question Id : 68634022009 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not related to data types m a programming?

1. Integer

[ E]

. Char

. Float

]

4. GUI

Options :

68634086961. 1
68634086962. 2
68634086963. 3
68634086964. 4

Question Number : 41 Question Id : 68634022009 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[FrefaRaa 1 9 g Wit o S 91 S1el WeR | SiEd 161 67
e (Integer)
IR (Char)
 Tle (float)
SIS (GUD)
Options :
68634086961. 1
68634086962. 2

68634086963. 3
68634086964. 4

[—

| ]

Lad

e

Question Number : 42 Question Id : 68634022010 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s/are a computer program?

1. Compilers only

()

. Interpreters only

. Assemblers only

]

4. Compilers, Interpreters and Assemblers

Options :

68634086965. 1
68634086966. 2
68634086967. 3
68634086968. 4

Question Number : 42 Question Id : 68634022010 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frefafad & 3 o1 91 S Ui 8782
1. Hdd HHER
. Had geUR
 Had TR
4. P, TIUe AR TEER

| ]

Lad

Options :

68634086965. 1
68634086966. 2
68634086967. 3
68634086968. 4

Question Number : 43 Question Id : 68634022011 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI

(Basic Data Types in LIS.T :.[I
C/Python Programming) st
A |Integer I |25
B. | Real I | 52.21
C. | Char Il |F
D. | String IV, |"98100198"

Choose the correct answer from the options given below:
1. A-I. B-II. C-III. D-IV
2. A-IV, B-II, C-III. D-I
3. AL B-IT, C-IV, D-1
4. A-II. B-IV. C-I11, D-I

Options :

68634086969. 1
68634086970. 2
68634086971. 3
68634086972. 4

Question Number : 43 Question Id : 68634022011 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y11 % 91y gl 11 61 ieH Sifsu|
|
(C.-'UEW% A qa i
TRTTFR) (=

A B I |-25

B. [N3d o0 |5221

C. [#X @¥F) 1L |F

D. [ IV, |"98100198"
i feu e faeedl § ¥ 98l STR &1 98- Bifeu|

1. A-I, B-II. C-IIL, D-IV

| ]

CA-IV, B-IL C-I11, D-I
3. A-IIL. B-II. C-IV, D-I

4. A-II. B-IV. C-IIIL D-I

Options :

68634086969. 1
68634086970. 2
68634086971. 3



68634086972. 4

Question Number : 44 Question Id : 68634022012 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a web browser, URLs stands for:

1. Uniform Resource Locators

()

. Universal Resource Locations

. Universal Resource Locators

]

4, Umiform Resource Loeations

Options :

68634086973. 1
68634086974. 2
68634086975. 3
68634086976. 4

Question Number : 44 Question Id : 68634022012 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U% 49 SISoR 8 URL BT AW G -
1. gAeH RO dieed
giadd R die e
gHada R dded
4. gAETH RE areR=
Options :
68634086973. 1
68634086974. 2

68634086975. 3
68634086976. 4

| ]

[F5]

Question Number : 45 Question Id : 68634022013 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the mternet. WWW stands for:

1. Word Wide Web

()

. World Wide Web

. World Wibe Web

]

4, Word Width Web

Options :

68634086977. 1
68634086978. 2
68634086979. 3
68634086980. 4

Question Number : 45 Question Id : 68634022013 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

geic 1 5oy sy 5o B R AT § -
1.9 ag8 a8
. J@ aIgS 49
3¢S dgd ad
498 fagyda
Options :
68634086977. 1
68634086978, 2

68634086979. 3
68634086980. 4

| ]

Lad

Question Number : 46 Question Id : 68634022014 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Data type Descriptions

; ; Specifies character type data of length n whers
2 JCER I n could be any value from 0 to 253

B. [VARCHAR®M)| T Specifies character type data of n length where

n could be any value from 0 to 255

Specifies an integer value. Each of its value

C. |INT HE: occupies 4 bytes of storage.

Holds numbers with decimal points. Each its

B. [Eoat B value occupies 4 bytes of storage.

Choose the correct answer from the options given below:

1. A-I. B-II. C-IIL. D-IV

(R

CA-IL B-IL C-IV. D-III

CA-L B-IIL C-IV. D-III

Lad

4. A-IL. B-1. C-III. D-IV

Options :

68634086981. 1
68634086982. 2
68634086983. 3
68634086984. 4

Question Number : 46 Question Id : 68634022014 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=1 & 91y Gl 11 D1 HeH Sifsu|

I 11

@ﬂ@m (e
L TS @ SIS @ dided UPR Hiay
A [ CHAR(n) I [BXdl & S6l o @1 79 $3 1 0 ¥ 255
d® &l 9odl o
] e & 2l Bl didel WHR Hiay
B. | SXPIVARCHAR ()| 11 [T & &l o 1AM TS 1 0 ¥ 255
dF &l Tddl o

Uch qUlids HIF bl (I &dl 2| 39|
I b i 4 dI5ed 97g U WRdl o
SUiHd fag & 91y 9=01 Bl 3Ed B
D. | FI1@ FLOAT IV. [5H®T IS A 4 F15¢H 576 B U]
(cIdn 1
i 30 70 fddedl | ¥ Tol 3T &1 99 Sl

1. A-I, B-II. C-IIL, D-IV

C. |3CINT

[ ]

AL B-1L C-IV, D-IIT
3. A-L B-IIL C-IV, D-II1
4, A-I1. B-1. C-III. D-IV

Options :

68634086981. 1

68634086982. 2

68634086983. 3
68634086984. 4

Question Number : 47 Question Id : 68634022015 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Queue is a data structure in which insertion and deletion is done from one end only, usually
referred to as TOP.

Statement II: Queue follows the principle of First In First Out (FIFO).

In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement 11 15 false

4. Statement [ 1s false but Statement 11 1s true

Options :



68634086985. 1
68634086986. 2
68634086987. 3
68634086988. 4

Question Number : 47 Question Id : 68634022015 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S IEACIEACURINE

HY1 : T UD ST Lo g forgd (ol off Gcd &1 3@ A1 g1 dad Ud ©R 9 Idl 5. JHId: SH]
219 (TOP) ¥ SRITa1 ST & |

DY L : T HE 54 B 33C (FIFO) BID] & RIS DT IR0 Il 6|

SWRIdd YU & 3Taid J i ST U fdweni H 9 9el SR @1 =07 B
1. PUA I AR I GH T &

YT AR SHI A

[ )

3. DU I 9 &, difh hUH II 319 ¢

4. PYTI I 8. APT FYT I TT B

Options :

68634086985. 1
68634086986. 2
68634086987. 3
68634086988. 4

Question Number : 48 Question Id : 68634022016 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The conversion of the Denary number 107 into the binary 1s:

1. 11010110

()

. 01101011
3. 10100110

4. 01110110

Options :

68634086989. 1
68634086990. 2
68634086991. 3
68634086992. 4



Question Number : 48 Question Id : 68634022016 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

S (denary) §&AT 107 BT § =Nl YRl g -

1. 11010110

| )

. 01101011

. 10100110

Lad

4. 01110110

Options :

68634086989. 1
68634086990. 2
68634086991. 3
68634086992. 4

Question Number : 49 Question Id : 68634022017 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Software Descriptions

N [Users have the freedom to run_ copy,
change or adapt free software
[t is a software a user can download

B. | Freeware 1L | :
from the intemnet free of charge
[Users are allowed to try out some

C. | Shareware IIT. |software free of charge for a trial
period.
[Helping to prevent viruses or hackers

D. | Firewall IV, |entering the user computer (or internet
network)

Choose the correct answer from the options given below:

1. A-I. B-II. C-III, D-IV

()

A-IV, B-II1. C-II. D-I

. A-IIL B-IL. C-IV, D-I

Laa

4. A-1, B-IT1. C-I1. D-IV

Options :

68634086993. 1
68634086994. 2
68634086995. 3
68634086996. 4



Question Number : 49 Question Id : 68634022017 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1% 91U =l 11 DT e Sifey

1 = 11
HIFETmR) EEEL)

o IoR & U 3HP! T B, DI B,
A BIORER | I [Gco 1! 9ieam @ o1 &1 WaFdl

By
|
. ugwa‘fumue%ﬁwwﬁmw
B. [BIaR I e 2
o Rch & 5eXHC Y SI3Aals DI Hhdl g |
. I U I B & oY
C—. IEI.@" 7, = it [t
Y daR & WP & WIid eldl g
aTE3E DI XD T 6 Y DI HHIX H
D. [GTEdd IV [(5H (@1 22 Headh) 4 U H Heg
ARG

-1 fu 7T fasedl § 9 9el GTR &7 98- Hifore:

1. A-I. B-II. C-III. D-IV

[ ]

CA-TV, B-IITL C-I1, D-I

AL B-IIL C-IV, D-I

L]

4. A-L. B-III. C-II. D-IV

Options :

68634086993. 1
68634086994. 2
68634086995. 3
68634086996. 4

Question Number : 50 Question Id : 68634022018 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The advantage of Graphical User Interface (GUI) 1s:

1. The user does not need to learn any commands

()

. It needs an operating system. such as windows. to operate, which uses up considerable memory.

. The user is limited to the icons provided on the screen.

L%

4. Synchronization 1s required.

Options :

68634086997. 1
68634086998. 2
68634086999. 3



68634087000. 4

Question Number : 50 Question Id : 68634022018 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T goR 5 Y (GUI) P BTIST e
ok @ D15 Ul PHIVS BT UG- 31 S=d el Usdl o

.39 U TR Ried &t Sexd Usdl ¢ o [ [dsis fohara & fere ol i U siftied SO &1
ERSCREHIN

F&p R goR 31 Hiftrd amg@ € we 31 et 8

-

)

Lad

 FiwATgeieH @t oed usdt o

s

Options :

68634086997. 1
68634086998. 2
68634086999. 3
68634087000. 4

Question Number : 51 Question Id : 68634022019 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The dervative i of the function y = smicos(log(x))) 1s.
dx

1. cos (cos (log (x)))

[

. cos (cos (log (x))) sin (log(x))

Fi—A L}cos (cos (log (x)))sin (log (x})
x

4. — cos (sin ( L)l
x
Options :
68634087001. 1
68634087002. 2
68634087003. 3
68634087004. 4

Question Number : 51 Question Id : 68634022019 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BT y = sia(cos(log(x))) DT HIRT ‘di 3
X

1. cos (cos (log (x)))

| )

. cos (cos (log (x))) sm (log(x))

3= L) cos (cos (log (x)))sin (log (x))
X

4. — cos (sm ( L))
x

Options :

68634087001. 1
68634087002. 2
68634087003. 3
68634087004. 4

Question Number : 52 Question Id : 68634022020 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The resultant vector of the cross product of the two vectors j .27 £ 2f 4 j 4k i

L i_j+k

2 fy; k

3.3(.«’-_}—;2)

43+ i=B
Options :

68634087005. 1
68634087006. 2
68634087007. 3
68634087008. 4

Question Number : 52 Question Id : 68634022020 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl gl P+2]—k:2i +j+k & G TUFHE 1 UINOTH SiG9 5-

Loi-j+k

204 k

3.3(f - - k)

4. 3(i+j-k)
Options :

68634087005. 1
68634087006. 2
68634087007. 3
68634087008. 4

Question Number : 53 Question Id : 68634022021 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The area bounded by the curve y = sin(x) between x = 0 to 2x 1s,

1.1

2

| )

4.4

Options :

68634087009. 1
68634087010. 2
68634087011. 3
68634087012. 4

Question Number : 53 Question Id : 68634022021 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x =09 2z & did URE< dd v = sin(x) Pl EH’)TW%

1.1

[ )
]

g
LF¥)

4.4

Options :



68634087009. 1
68634087010. 2
68634087011. 3
68634087012. 4

Question Number : 54 Question Id : 68634022022 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of J' [ing[r)); dx =
X

1. (log (x))

+C
3
2. log(x)+C
Foe
I .
4. _1 +(
3x°
Options :

68634087013. 1
68634087014. 2
68634087015. 3
68634087016. 4

Question Number : 54 Question Id : 68634022022 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T | (log(x)) g PR
X

i ('“g (-"])"
3

+(

-J

log(x)+C

1

T o
3
Options :
68634087013. 1
68634087014. 2



68634087015. 3
68634087016. 4

Question Number : 55 Question Id : 68634022023 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6
The term which is independent of n in the expansion of [ Tx?+—| is
X

l. Sfl.'l

)

. _,ITh

3. _th

4. 61'1‘1

Options :

68634087017. 1
68634087018. 2
68634087019. 3
68634087020. 4

Question Number : 55 Question Id : 68634022023 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0
[?f +1J » AR AP T ma ST

X
IGIEE
T

e

3. 4rddr

[ ]

4,331
Options :
68634087017. 1
68634087018. 2
68634087019. 3
68634087020. 4

Question Number : 56 Question Id : 68634022024 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The distance between two straight lines 2x + 3y =5, 2x + 3y =10 1s.

1 5
! .\‘."'ﬁ

!_.J
4;]|
ey | W

[F¥]
___]‘ o

Fa
L

e
=1~

W1

Options :

68634087021. 1
68634087022. 2
68634087023. 3
68634087024. 4

Question Number : 56 Question Id : 68634022024 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&R I 2x + 3y =5, 20+ 3y = 10D dT DI G E -

5
1,—.'—!

P

| ]

3
J

[
£
:1\ i

Options :

68634087021. 1
68634087022. 2
68634087023. 3
68634087024. 4

Question Number : 57 Question Id : 68634022025 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



: : 2 : . m
Consider the trigonometric equation tan(x) — tan(y) = 0. where x and y are not odd multiples of JE . Then the

solution of this equation 1s

Lx=nn+(-1)%

)
H
Il
St

lx=nnty
dx=nn—y

Options :

68634087025. 1
68634087026. 2
68634087027. 3
68634087028. 4

Question Number : 57 Question Id : 68634022025 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eouiirda gHie tan(x) — tan(y) = 0 EAGEIRY ﬁﬁm ERE; Gﬁ?}; g %%@WH@[%I ?ﬁﬁ
Tefie0T BT 5 &-

Lx=nn+(-1)"

-2
i
Il
]

4 x=nn—y

Options :

68634087025. 1
68634087026. 2
68634087027. 3
68634087028. 4

Question Number : 58 Question Id : 68634022026 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In regression analysis independent vanable 1s also called as:

1. Explained

[ E]

. Regressor

. Regressed

]

4. Estimator

Options :

68634087029. 1
68634087030. 2
68634087031. 3
68634087032. 4

Question Number : 58 Question Id : 68634022026 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT fIeeyT (TR # Wdd =R & 399 i SiHT o g-
1. ST
Ty
Yy

| ]

Lad

4. AlDH P

Options :

68634087029. 1
68634087030. 2
68634087031. 3
68634087032. 4

Question Number : 59 Question Id : 68634022027 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The angle between a pair of lines given by

re= 3?+2}'—2!§ +4 (f+2.}'+2,EEJ,r‘ =5-27+2, (3f+2j+fj;g)i;:

1( 19
1. cos —
lej
; 19
2. sin I[—]
21
) .(1?]
J. COs —
21
)
4, tan —
21
Options :
68634087033. 1
68634087034. 2
68634087035. 3
68634087036. 4

Question Number : 59 Question Id : 68634022027 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R T F ST BT S -

F=31+2]-2k+4 (f+2.}'+2£],r‘ =5 -2]+4, (_3f+2_}+m€].

J

©

1. cos 1[

b

[ ]
WL

%
— —
tdl—'

— |~
S ', A b SR

sin

8]

. COS

4, tan

oy
Sl

Options :

68634087033.
68634087034.
68634087035.
68634087036.

AW N =



Question Number : 60 Question Id : 68634022028 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Line of regression of v on x 1s the line which gives the best estunate for the value of y for any
spectfied value of x.

Statement IT: Line of regression of x on y 1s the line which gives the best estimate for the value of x for any
specified value of v.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement 1T 1s false

4. Statement I 1s false but Statement 11 1s true

Options :

68634087037. 1
68634087038. 2
68634087039. 3
68634087040. 4

Question Number : 60 Question Id : 68634022028 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i gl YA feu U B:

DU : x TRy DT FHISVI 1 98 3418 Sl o ool i« & FiEw 749 & ey ) & 7 1 Tad 31
HHTH &l 5

DU : y TR x BT FHIHTVI 3G T8 31 ¢ S b bl +ff 5 & P A & 10 x & A1 o1 Wl 3731
T &l o

SURIF HY & JHTelid H A1 (U [dFed] § H Hel TR &1 90 DIfofu:
1. DY RIS T &
PYTI IR I SH 3T

-2

3. PUTI T &, AT FYT I 3T ©

4 B HTI . T YT I IO

Options :

68634087037. 1
68634087038. 2
68634087039. 3



68634087040. 4

Question Number : 61 Question Id : 68634022029 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the set of those elements which are common in both 4 and B?
1.4NB
2.AUB

.A-E

s

4.4ANB

Options :

68634087041. 1
68634087042. 2
68634087043. 3
68634087044. 4

Question Number : 61 Question Id : 68634022029 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefafaa & o 91 3 sraual &1 9=y & off 5 4 iR B # SyaFg § -

1.ANOEB

| )

. AUB

.A-B

[ ]

4.4NB

Options :

68634087041. 1
68634087042. 2
68634087043. 3
68634087044. 4

Question Number : 62 Question Id : 68634022030 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A commuttee of two persons 1s selected from two men and two women. What 1s the probability that the
committee will have at least one man?

| ]

wlts Wl—

| e

.
2
Options :
68634087045. 1
68634087046. 2

68634087047. 3
68634087048. 4

Question Number : 62 Question Id : 68634022030 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@ggﬂ“f SIR &l Afgarsii # 9 2 dril &1 ue Iifd -t 715 | 90 o 0 3 ©0 U oy & g4 @ Uifkesd
&1 87

-J

1
3
2
3

| =

b | =

Options :

68634087045. 1
68634087046. 2
68634087047. 3
68634087048. 4

Question Number : 63 Question Id : 68634022031 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 1 ] 1
o

+ + ik (P _
loga N logs N logy N log;s N

The value of 18:

|
e ——
|0g152 N

(R

log (15!
. log,, (15!)

Options :

68634087049. 1
68634087050. 2
68634087051. 3
68634087052. 4

Question Number : 63 Question Id : 68634022031 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 1 1

+ + i T - @ HAE -
log: N logzs N logy N logs N %

1, ——
Iog]iz N
2. log__ (15!
2. log, (15
1
3.
log (15!
og, (15!

2
4.

Options :

68634087049. 1
68634087050. 2
68634087051. 3
68634087052. 4

Question Number : 64 Question Id : 68634022032 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ten cards numbered 1 to 10 are placed 1n a box and one card 1s drawn randomly. If 1t 18 known that the number
on drawn card 1s more than 2. The probability that it 15 an odd number 1s:

|

l. 2
2
3
2“ —
4
1
. 1
8
7
.
8
Options :

68634087053. 1
68634087054. 2
68634087055. 3
68634087056. 4

Question Number : 64 Question Id : 68634022032 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS gag § 1 9 10 %R & 29 U &1 @1 T & 3R U6 U Oefsd &0 I (e oiar 21 3R U8 Il
e T FArasrar a1 g 2 O 3ifde 9ra &1 8, 91 39 Ul & faud I g4 & a1 wiftedr gt

1

1. =
2

3
2. o
4
1
3. -
5

7

4, -
8
Options :

68634087053. 1
68634087054. 2
68634087055. 3
68634087056. 4

Question Number : 65 Question Id : 68634022033 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The mode of the following distribution:

1,4.3,5,6,3,3,. 2,43, 4.3, 3,4,4.2. 3

[ ]
L]

3.4
4.5

Options :

68634087057 1
68634087058. 2
68634087059. 3
68634087060. 4

Question Number : 65 Question Id : 68634022033 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f3U U e &1 dga® o1 g

T3, 8,6,3;3, 2, 43,4, 3, 3,44, 2,3

| ]
[¥5)

3.4

4.5

Options :

68634087057. 1
68634087058. 2
68634087059. 3
68634087060. 4

Question Number : 66 Question Id : 68634022034 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Standard Error of the sampling distribution of a statistic 13 given by:

1. Median

[

. Mode

3. Correlation coefficient

4. Standard Deviation



Options :

68634087061. 1
68634087062. 2
68634087063. 3
68634087064. 4

Question Number : 66 Question Id : 68634022034 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0% Hie®! & 99| & & S AHD Jic o -
1. HifeiyepT 9

§gdd I

g ddy ol ¥
4. 9% fGae 9

Options :

68634087061. 1

68634087062. 2

68634087063. 3
68634087064. 4

| ]

Lad

Question Number : 67 Question Id : 68634022035 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
_— . . . Ifh" ¥ g 2 X
The rate of activity of a person y with age ¢ is given by (14 r}; =¢ - —1 For the initial condition y=1at t = 0, the
)
solution 1s grven by,

L
=
Il

=

[ )
L
Il
=
—_— —— ——,
—
+ | ™
—
M -. L

Options :

68634087065. 1
68634087066. 2
68634087067. 3
68634087068. 4



Question Number : 67 Question Id : 68634022035 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS Afdd & B S &1 &3 35 & 9y {lrr}%:e}' | a3 YRS ¥y = 1, ¢ = 0 RETH 5
[}
g g s sem

seu()

-

]
52
Il
g
—
-
ol

Options :

68634087065. 1
68634087066. 2
68634087067. 3
68634087068. 4

Question Number : 68 Question Id : 68634022036 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

~

2 Y .
The area bounded by two parabolas y = x~, x =y~ 1s,

1. 0 vt

[ ]

. 1/2 unit
3. 1/3 unit

4. 1/4 unit

Options :

68634087069. 1
68634087070. 2
68634087071. 3
68634087072. 4

Question Number : 68 Question Id : 68634022036 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&I RAWl y =%, x =) Y TER GU & T eABa § -
1.0SHE

12 3Pl

3. 135®E

4. 1/45DTg

Options :

68634087069. 1
68634087070. 2
68634087071. 3
68634087072. 4

| ]

Question Number : 69 Question Id : 68634022037 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The distance of a point whose position vector 1s # from the plane § . ji = 4 1s,

L |d

[ ]

- |r§ . f.r|

]

. |d—F i

s

. |d—ui-A

Options :

68634087073. 1
68634087074. 2
68634087075. 3
68634087076. 4

Question Number : 69 Question Id : 68634022037 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U@ fomg O ol ar et ot fufa afe oo 9ad 7.h—a 20 &

i
—
=i
)

FlL L

4. |d—u-hl

Options :

68634087073. 1
68634087074. 2
68634087075. 3
68634087076. 4

Question Number : 70 Question Id : 68634022038 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The integral j: X log(x) dx equals:

1 3t

4

2 {lug{-ﬂ ﬂ

4

[Iug{?;}]

'y

()

w
.

: [Iog[.’%}] .l

16

E_)J
> |

4
3 | |
4. —llog(3 —}r—
4{&’”4 16

Options :

68634087077. 1
68634087078. 2
68634087079. 3
68634087080. 4

Question Number : 70 Question Id : 68634022038 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W] 3 log(x) dr SRS &-

N oY

1. 37
4

[lu;:{ }1

4;

3

: {Iog{ ) ﬂ

[lubﬁﬂ —I

16

aa [ )

L|w_;_~.

#.

3 | |
N 4 [I%m 4} "6
Options :
68634087077. 1
68634087078. 2
68634087079. 3
68634087080. 4

Question Number : 71 Question Id : 68634022039 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R : :
The dertvative —— of the function y =x" is

dx
1. o
2. ¥log(x)
3xet
4. [1+log(x)]x*

Options :

68634087081. 1
68634087082. 2
68634087083. 3
68634087084. 4

Question Number : 71 Question Id : 68634022039 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dx
Loxx®
2. ¥log(x)
3 xe"
4. [1+Hog(x)]x*

Options :

68634087081. 1
68634087082. 2
68634087083. 3
68634087084. 4

Question Number : 72 Question Id : 68634022040 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

For any positive integer m. 7 — 3™ is divisible by

1.4

2T

L
L)

4. 10

Options :

68634087085. 1
68634087086. 2
68634087087. 3
68634087088. 4

Question Number : 72 Question Id : 68634022040 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oot ot eTe® quiies m & fore , 7 — 37 RefafEa 4 9 fews v g -

1.4

4.10

Options :
68634087085. 1



68634087086. 2
68634087087. 3
68634087088. 4

Question Number : 73 Question Id : 68634022041 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equation of the parabola which 1s symmetric about the y-axis and has its vertex at origin and passes
through the pomnt (1, —1) 1s

l.x*+y=0
2.5 —y=
3.x2=0
4.52=0
Options :

68634087089. 1
68634087090. 2
68634087091. 3
68634087092. 4

Question Number : 73 Question Id : 68634022041 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U TRAcd B THIGU Sl {3 y-31& & I g, S9! Y gafeg W e R fag (1. -1) T oRdl 6 -

Lt +y=0
l.xz—}==0
3.x7=0
4.y°=0
Options :

68634087089. 1
68634087090. 2
68634087091. 3
68634087092. 4

Question Number : 74 Question Id : 68634022042 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the sets X and ¥ are mutually exclusive, then P (X 11 ¥) 15

1.0

)

Laa
[

4.1

Options :

68634087093. 1
68634087094. 2
68634087095. 3
68634087096. 4

Question Number : 74 Question Id : 68634022042 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3R & I X 3R ¥ IRER HUGS g A1 P (XN 1) B -

1.0

| B}

4.1

Options :

68634087093. 1
68634087094. 2
68634087095. 3
68634087096. 4

Question Number : 75 Question Id : 68634022043 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Three cards are drawn successively. without replacement from a pack of 52 well shuftled cards. The
probability that first two cards are kings and third card drawn 18 an ace 1s

()

L¥]
ST
—
wl""
i )
Lad

—1'. I
5525
Options :
68634087097. 1
68634087098. 2
68634087099. 3
68634087100. 4

Question Number : 75 Question Id : 68634022043 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 52 U dTel 38 axidl 9 Be 0 Il 9 fo1 95d 3 7 Fieere od €1 98 &l 9= X iR dRR ud
P TP 3aP1 51 I T Wit g

. L

13
2. fracerie
132
3
(3
1
2
4| .
5525
Options :

68634087097. 1
68634087098. 2
68634087099. 3
68634087100. 4

Question Number : 76 Question Id : 68634022044 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



One card 1s drawn from a well shuffled deck of 52 cards. If each outcome 1s equally likely, The probability that
the card will not be a king is:

| D)

Lad

Options :

68634087101. 1
68634087102. 2
68634087103. 3
68634087104. 4

Question Number : 76 Question Id : 68634022044 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

52 O] I 3=y dRip § U MU O I U U fAeTal ofrar §, 3R 94t & I9H A & =G 8 a1 99
T & ST AT A P T WiiaadT gri?

B

| ]

| —

| w2

Options :

68634087101. 1
68634087102. 2
68634087103. 3
68634087104. 4

Question Number : 77 Question Id : 68634022045 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The arthmetic mean and standard deviation of a series of 20 items were calculated by a student as 20 em and
5 em, respectively. But while calculating them an item 13 was misread as 30. The correct standard deviation is

[ )
e
=]
=)

3.4.95
4.4.88

Options :

68634087105.
68634087106.
68634087107.
68634087108.

AW N =

Question Number : 77 Question Id : 68634022045 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U B GRI 20 HEA1371 F1 U Juil T GHIR T SR AHD fa=e S 20 9. 3R 5 AT 81 A
0T S 999 U 937 13 DI TadT 9 30 U o/ Tam df et A9 [d9a- 6 -

1.4.53

[ )

. 4.66
3.495

4. 488

Options :

68634087105. 1
68634087106. 2
68634087107. 3
68634087108. 4

Question Number : 78 Question Id : 68634022046 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let ¥ 1s the mean of the vanate values xq. x,...., xoy. If a constant value 4 1s subtracted from each vanate

value, then the resulting new mean is:

1. x—-4

2. x-NA

3. x4

4. ¥
Options :

68634087109. 1
68634087110. 2
68634087111. 3
68634087112. 4

Question Number : 78 Question Id : 68634022046 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT {3 fa=R A1 x,. %, xg BT 7 B 3R US =R T 4 Tl f3=R 911 9 veran S g o =74
qRUTHT A1 1 BT

1. x-4

2. x—-NA

3. x4

4. ¥
Options :

68634087109. 1
68634087110. 2
68634087111. 3
68634087112. 4

Question Number : 79 Question Id : 68634022047 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If P(4 M B)=P(A).P(B). then event of 4 and B are:

1. Independent

[ E]

. Dependent

. Null sets

]

4. Mutually exclusive

Options :

68634087113. 1
68634087114. 2
68634087115. 3
68634087116. 4

Question Number : 79 Question Id : 68634022047 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRPANB)=P(4).PB) 8. NUAL 4 RBE -

1%

4, OER gqai

Options :

68634087113. 1
68634087114. 2
68634087115. 3
68634087116. 4

Question Number : 80 Question Id : 68634022048 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: The Geometric mean of a set of 11 observations is the nth root of their product.

Statement IT: If 1. X5, X5 ... X are the given n observations. then their G.M. 1s given by

%;;[.".'1 } ( X’El (—15'3 ) ( .-‘.-”}

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

[

. Both Statement I and Statement IT are false
3. Statement I is true but Statement I 1s false

4, Statement [ 1s false but Statement II 1s true

Options :

68634087117. 1
68634087118. 2
68634087119. 3
68634087120. 4

Question Number : 80 Question Id : 68634022048 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR mrRumue:
BYAI : n HTATDA dldl U TH=T BT IR H1e4 3P 1UH & »™ Jd 5Idl 5|

PUTIL 2 SR, Xy, K. .... X, 0 HACIDA QUMY E T SABTUIRR AT (X)) (X7) (X3) - (X,)
BT
ORI Y & ATl § = 3T T fde el § 9 969 Sugad 3Tk &1 99 ST
1. HYT 1 3R 11 31 TeT §
YA 1 SR I T AT §
3. BUF 1 TR . Al HYH 11 TTed §
4 YA 1T 2, AT PuT I Eel 8

-J

Options :

68634087117. 1
68634087118. 2
68634087119. 3
68634087120. 4



Question Number : 81 Question Id : 68634022049 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the linear function from Zto Z: f = {(0.-5), (1, 0), (2, 5), (-1, —10)}. Then the function f(x) is:

1. f(x)=5x—5
2. f(x) = 5x
3. fx)=x-5
4. f(x)=-5
Options :

68634087121. 1
68634087122. 2
68634087123. 3
68634087124. 4

Question Number : 81 Question Id : 68634022049 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YA BA 28 Z: f = {(0.-5). (1. 0). (2. 5). (-1. -10)}. R fGOR FIMT| T B f(x) ©-

1. f(x)=5x—5

2. f(x) = 5x

3. f(x)=x-75

4. f(x)=-5
Options :

68634087121. 1
68634087122. 2
68634087123. 3
68634087124. 4

Question Number : 82 Question Id : 68634022050 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Any square matrix 4 can be expressed as:

1. The product of a symmetric and a skew-symmetric matrices.

()

. The division of a symmetric matrix by a skew-symmetric matrix.
3. The sum of a symmetric and a skew-symmetric matrices.

4. The subtraction of a symmetric from a skew-symmetric matrix.



Options :

68634087125. 1
68634087126. 2
68634087127. 3
68634087128. 4

Question Number : 82 Question Id : 68634022050 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feft af sitoug 4 &1 quiar ST Y@ a § -
U FEHT 1og 3R TP vy Jafid siogg & 1uH 9
. Uch GAIHT 3HTodg &1 U [quH 3(1agg & W |
U FEHT g AR U fauT 1o & an |
. Ueh JAIHA 3iogg ¥ faww T 3iegg & 9eH 4|
Options :
68634087125. 1
68634087126. 2

68634087127. 3
68634087128. 4

[—

| ]

Lad

e

Question Number : 83 Question Id : 68634022051 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
v 18 equal to

F 7 3
The integral j' o —x
b -1

!u
&=

O B=lw

I
4, ——
4

Options :

68634087129. 1
68634087130. 2
68634087131. 3
68634087132. 4



Question Number : 83 Question Id : 68634022051 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dx SUSR T -

3
X —x

THIGAA fl

!q
|-

R = -

5]

|
¥,
4

Options :

68634087129. 1
68634087130. 2
68634087131. 3
68634087132. 4

Question Number : 84 Question Id : 68634022052 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equation of the hyperbola whose foci are (0. £12) and the length of the latus rectum 1s 36 1s

[
L]
Pt
|
-
(o]
Il
—
=
[#a]

4. 12y* —3x

Options :

68634087133. 1
68634087134. 2
68634087135. 3
68634087136. 4

Question Number : 84 Question Id : 68634022052 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SffIRaag BT THIG0 31 BT, Forge! A1 (BIdY) (0, £12) § 3R AN P TS 36 57
O 1 T
235t =108

3. 9% 1= 1

Options :

68634087133. 1
68634087134. 2
68634087135. 3
68634087136. 4

Question Number : 85 Question Id : 68634022053 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The direction cosines of x-axis, y-axis and z-axis. respectively are:

[ \

.0,0], [0,

_1:-},['0,11

Fo\

S B
| A

| =

\
\

[ ]

(2,0, 0), (0, m, 0), (0. 0, )
7 T 1';
5J| f .59}

L0, — |,
2.1
4. (1,0, 0), (0, 1, 0). (0,0, 1)

5|

LF¥]
A
A

(o,
LY

R
A

Options :

68634087137. 1
68634087138. 2
68634087139. 3
68634087140. 4

Question Number : 85 Question Id : 68634022053 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



x-3He, -8 3R z-31ef B fE-Hrarg— v §-

WP e ST e

. |Z00) (0 % 0][00Z]

2 J \ 2 / i.\ 2)
2. (x. 0, 0). (0. . 0), (0, 0. )

F| S| ! 'IIJ .'[‘1 T T 3

3, r].li.‘—]_|3,n,",fI_f-,n;

2 20\2 2 2t

4.(1,0,0),(0,1.0).(0,0. 1)

Options :

68634087137. 1
68634087138. 2
68634087139. 3
68634087140. 4

Question Number : 86 Question Id : 68634022054 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The regression analysis confined to the study of only two variables at a time. 1s called as:
1. Simple Regression
2. Difficult Regression
3. Di-Regression
4. Multiple Regression

Options :

68634087141. 1
68634087142. 2
68634087143. 3
68634087144. 4

Question Number : 86 Question Id : 68634022054 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ToTTT faweyo] U I0g B Had of TR1 & A0 & forg ot Afgd &, seamars -
1. IO FHTLTT

3. SI-GaTHT

| ]

4. 98 (UeiUel) - SHIHGU

Options :

68634087141. 1
68634087142. 2
68634087143. 3
68634087144. 4

Question Number : 87 Question Id : 68634022055 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The security guard of a hospital allows enter to 5 persons from a room for a checkup from a group of patients
which has 10% Covid infected patients. The probability that there 1s at least one person Covid infected
patients. 1s -

5
1.9_ﬁ
10
5
0 (el
10°
) 910
ml(}
10
s
1010
Options :

68634087145. 1
68634087146. 2
68634087147. 3
68634087148. 4

Question Number : 87 Question Id : 68634022055 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U WREMFHI U AT § U B8 § 9-3{0 (i) & [ 3Rgard & 1S 9 5 @ &1 8l oA gal g
ol f& 10% BIfas I Uhiid g1 FH T PH UD ARl B HIlds I HhiHd 8- ! Wi &1 gHl?

miU
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4, ]_9_
mlﬂ

Options :

68634087145. 1
68634087146. 2
68634087147. 3
68634087148. 4

Question Number : 88 Question Id : 68634022056 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the linear regression equation:

lLy=a+bx

~
£

2y=ax
3 ey
J.at+x =y

4, ax =}'2

Options :

68634087149. 1
68634087150. 2
68634087151. 3
68634087152. 4

Question Number : 88 Question Id : 68634022056 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fr=fafaa § 9 o1 91 U T garya SHER § -
lL.y=a+bx

1
r4

2.y=ax

L

2 ¥
3.a+x =

Sl

-

4. ax =y*
Options :
68634087149. 1
68634087150. 2

68634087151. 3
68634087152. 4

Question Number : 89 Question Id : 68634022057 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a correct relation if and only if all the n observations are equal?

1. Arithmetic Mean = Geometric Mean

()

. Arithmetic Mean < Geometrie Mean
3. Arithmetic Mean = Geometric Mean

4. Arithmetic Mean = Geometric Mean

Options :

68634087153. 1
68634087154. 2
68634087155. 3
68634087156. 4

Question Number : 89 Question Id : 68634022057 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefafad 8 9 19 1 98! 3a ¢ Ofe 3R ad afe Ot » e SRel & -

[a—y

AR 71 = IR H1E

| ]

. FHIOR A1 < TUIR |

L]

 GHIOR H1e8 = Ui 11
4. IR 714 > T[UIR I

Options :
68634087153. 1



68634087154. 2
68634087155. 3
68634087156. 4

Question Number : 90 Question Id : 68634022058 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X'1s a square matrix of order N x N, then for any constant ¢, |eX] 1s equal to.

1. ¢lX]

[
o
[
=
fia)

L%
L]

4. ¥

Options :

68634087157. 1
68634087158. 2
68634087159. 3
68634087160. 4

Question Number : 90 Question Id : 68634022058 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a% X TP N x N BIfe o1 1 o11oug 3, a1 ool off ok o & 0, |c) eR 3 -

1. ¢lX]

| ]
[
(o]
b
-~

L
L]

4. ¥

Options :

68634087157. 1
68634087158. 2
68634087159. 3
68634087160. 4

Question Number : 91 Question Id : 68634022059 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The function F(x) = |x]atx=01s

1. Continuous

()

. Discontinuous

. Undefined

]

4. Differentiable

Options :

68634087161. 1
68634087162. 2
68634087163. 3
68634087164. 4

Question Number : 91 Question Id : 68634022059 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x =0 R B F(x)= x| © -
1. gdd
3dd
gfvaig et
4. gHag

Options :

68634087161. 1
68634087162. 2
68634087163. 3
68634087164. 4

| ]

Lad

Question Number : 92 Question Id : 68634022060 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X and ¥ are invertible matrices of same order then

Ly l=x1¥"1

2 (m—] i F—lX—I

3 (xPi=x-ly

4. t=xv!
Options :

68634087165. 1



68634087166. 2
68634087167. 3
68634087168. 4

Question Number : 92 Question Id : 68634022060 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4% x 3R ¥ 9H e & gehHulig 1egg & i -

Loy Lty

[ ]

Ayt rip
3, (X l=x"1¥

4. xpyt=xr?

Options :

68634087165. 1
68634087166. 2
68634087167. 3
68634087168. 4

Question Number : 93 Question Id : 68634022061 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Thesum 12422+ + M2 MeNis

3
1. Equal to M
'1!‘
M-
25 {Hi
3
= T
3
aM?

4. Equal to

Options :

68634087169. 1
68634087170. 2
68634087171. 3
68634087172. 4

Question Number : 93 Question Id : 68634022061 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

12422+ + M2IDHIONT I, SEI MeN,

s
1. M Sww
3
3
% el
3
3
3 M
3

4. M FR
"JF

Options :

68634087169. 1
68634087170. 2
68634087171. 3
68634087172. 4

Question Number : 94 Question Id : 68634022062 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i—1
The polar form of the complex number z= is,
] | X
COS|: :| +isin |: :|

1. \JE COS’VE}+ESM|:E}}
e L 3

II(’ _:JT_ 2 _R}J
— |+isin| —

\ 12 12

57 5%
3. \E cos| — |+isin| —
3 3 U

!_.J
frey
[ ]
o
(73]

Options :

68634087173. 1
68634087174. 2
68634087175. 3
68634087176. 4



Question Number : 94 Question Id : 68634022062 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i—1

s T BT YdlT =U G -
COS[}:|+ISII]|:3:|

gy I z=

+isin

| ]
fm
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=

1

|;1
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E

—
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o
P a— ¥ \
L]
[]
[#4]
1
Lh
P
]
+
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w
=
1
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5
]
M

Options :

68634087173. 1
68634087174. 2
68634087175. 3
68634087176. 4

Question Number : 95 Question Id : 68634022063 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A box contains 9 balls of which 4 are Golden, 3 are Silver and 2 are Steel. The balls are similar in shape and
size. A ball 1s drawn at random from the box. The probability that it will not be a silver ball:

e
9

!_._.'l

O |

Ll | =

=
L | ka2

Options :

68634087177. 1
68634087178. 2
68634087179. 3
68634087180. 4



Question Number : 95 Question Id : 68634022063 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U® a0 § o Tig § foH 4 A6, 3 3ial 3R 2 WA & g1 71 STPR 3R 3MSfd § e § | IS Tig aiad
I ORI=s® = 9 Forar o1 §1 Tig & 9iel & A1 84 B WiftedT a1 g

!~_.l
¥ B [ S T = N

lod | —

4.2
3

Options :

68634087177 1
68634087178. 2
68634087179. 3
68634087180. 4

Question Number : 96 Question Id : 68634022064 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average marks of students in a group of 6 students 1s 119. The individual marks of five of them are 115,
109. 129, 117. 114. The marks of sixth student s

3
o
-2
L=}

4. 125

Options :

68634087181. 1
68634087182. 2
68634087183. 3
68634087184. 4

Question Number : 96 Question Id : 68634022064 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



6 BTl & U 948 H TH| & 3{19d 3 119 §1 5 BHI & cAfGITq 3 BT 115, 109, 129, 117, 11431 @l
T6 B DI I 3P gHI?

1. 130

)
—
[ ]
=

4. 125

Options :

68634087181. 1
68634087182. 2
68634087183. 3
68634087184. 4

Question Number : 97 Question Id : 68634022065 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I Arithimetic mean of a given set of observations 1s their sum divided by the no. of observations.
Statement IT: If in a series the sum of 5 number 15 17. then the Arithmetic Mean of it will be 3.4 = 0.5.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

[ )

. Both Statement I and Statement II are false

. Statement I is true but Statement II 1s false

L]

4, Statement [ 1s false but Statement IT 1s true

Options :

68634087185. 1
68634087186. 2
68634087187. 3
68634087188. 4

Question Number : 97 Question Id : 68634022065 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634087185. 1
68634087186. 2
68634087187. 3
68634087188. 4

Question Number : 98 Question Id : 68634022066 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The standard deviation for the following distribution:

Class

30-40

40-50

50-60

60-70

70-80

80-90

90-100

Frequency

a

=

12

15

8

2

1.12.89

()

. 13.98
3.14.18

4.15.38

Options :

68634087189. 1
68634087190. 2
68634087191. 3
68634087192. 4

Question Number : 98 Question Id : 68634022066 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




o s

[T ded & U 3 [dga 91 &1 -
D

30-40 | 40-30 | 30-80 | 60-70 | 70-80 | 80-90 | 90-100

all
ahd | 3 7 12 15 8 3 2

1.12.89

| )

. 13.98
3. 1418

4. 15.38

Options :

68634087189. 1
68634087190. 2
68634087191. 3
68634087192. 4

Question Number : 99 Question Id : 68634022067 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Mean deviation about the Mean for the following data:

6,7.10,12,13. 4,8, 12

Options :

68634087193. 1
68634087194. 2
68634087195. 3
68634087196. 4

Question Number : 99 Question Id : 68634022067 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT [SU U siids! & [ou Hred & Qrds Hrediagad 3d @]

6.7,10,12,13.4, 8,12

| B
=~
=
[=]

4, 2.50

Options :

68634087193.
68634087194.
68634087195.
68634087196.

AW N =

Question Number : 100 Question Id : 68634022068 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the runs scored by two batsmen in their last ten matches as follows:
Batsman A: 30, 91. 0. 64, 42. 80, 30. 5. 117, 71
Batsman B: 53. 46, 48, 50, 53, 53, 58, 60, 57. 52
The Median of the runs scored by Batsman A and Batsman B respectively
1.52,42
2.53,50

.53, 80

T

4. 53, 53

Options :

68634087197. 1
68634087198. 2
68634087199. 3
68634087200. 4

Question Number : 100 Question Id : 68634022068 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U U & Scciarl gR1 39 =19 10 9l & 34 4R [daR S|
geUald A: 30, 91, 0, 64, 42, 80, 30, 5, 117, 71

qciardl B: 53, 46, 48, 50, 53, 53, 58, 60, 57, 52

Feoiarel A IR geoiare B §RT G410 70 31 &t AT Ha: 8-

1.52,42

2: 53,50
3.53.80

4, 53,53

Options :

68634087197. 1
68634087198. 2
68634087199. 3
68634087200. 4



